81

@+ ax)(1+ bx)® X ® 0

@-2x +3x2)3

1 4
+——3X
X W )
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1.
2.
3.
a1 _g* x*~ 8x +9=0 X
o* 3x%-6x-14=0
ax®+bx+c=0(a=0)
(bt Vb2 — dac
2a
a c a+p=-— of=—
11
TOT aZep? Pl
- 4 ax*+bx+c=0
5 D =b*- 4ac
(b—c)x?+(c-a)x+(a-b)=0 ab c
(c—a)%-4(b—c)(a—b)=(at+c-2b)?
a+c-2b=0
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m

y =m(x+2)
y?=8x

(4m2-8)2 —16m* >0

m?x? + (4m? —8)x + 4m? =0

33 ax?+bx+c
X+£2+4a:—b2 2+
2a 4a ax“+bx+c
dac—b? _b
(a 0 a( 0) - X >a
b 2
X=—-"7- ax“+bx+c
2a
ax2 1 bx+c
a b c
>0 >0 | >0
=0 [ =0
<0 <0 <Q
a 0boO0coO
V4
Yy )
\ > ->- —
" Jo7 X o x fo x
b2-4ac>0 b2-4ac=0 b2-4ac<0

a 0boO0coO
Yy

b2 —4ac>0

(@) x*-8x+9
(b) 6+6x—x>

1

© x2—6x+11
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(a 3x% +2x +m
(b) nx>-5x+4

2 6.5
LI
9*+ 12
1.
2.
3.
4.
a1 o s=r6 A= ere
3% g
4.2 44 0 2n
5*+5
® 2n
cosec 0 =—
sin @
secO =
cos0
cotf=
tan 0

1+tan?0=sec2 0

1+ cot? 0 = cosec0
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